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Subtracting using bonds for 10

10-10=1| 10-7= | 10-9= | 10-0= | 10-5=
10-4= | 10-1= | 10-2= | 10-8= | 10-10=
10-6= | 10-8= | 10-7= | 10-5= | 10-3=
10-1= | 10-9= | 10-0= | 10-7= | 10-8=
10-3= | 10-6= | 10-6= | 10-4= | 10-2=
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Subtracting using bonds for 10

Say the answer or the missing number

10-10=| 10-7= | 10-?=4|10-?=8| 10-?=9
10-?=5[10-?=3| 10-2= |10-?=2|10-2=10
10-6= | 10-?=6|10-?=7| 10-5= | 10-?=6
10-1= | 10-9= | 10-0= | 10-7= | 10-8=
10-3= | 10-?=0{10-?2=1| 10-4= | 10-2=9
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oooooooooo

Say the number t

to make 20

13

14

10

12

18

15
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Subtracting using bonds for 20

20-10= | 20-9= | 20-19=| 20-0= | 20-15=
20-4= | 20-11=| 20-2= | 20-12= | 20-14=
20-6= | 20-8= | 20-7= | 20-5= | 20-3=
20—-1= | 20-9= | 20-20= | 20-17= | 20-18=
20-13= | 20-6*= | 20-16= | 20-14= | 20-9=

www.fixitmaths.com

FXit Maths




Subtracting using bonds for 20

Say the answer or the missing number

20-20= | 20-17= |20-?=14| 20-7=8 |20-7=19
20-7=5 |20-7=13| 20-12= | 20-7=3 | 20-0=
20—-16= | 20-7=6 | 20-7=7 | 20-11= | 20-7=4
20-19 = 20-9= 20-6= |20-7=18| 20-8=
20-3= 20-7=1120-7=10| 20-14= | 20-7=9
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30 60 | 40 | 50 | 10
60 | 50 | 30 | 20 | 80
10 | 30 0 40 | 70
100 | 20 | 90 | 80 | 100
0 90 | 40 | 70 | 60
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Subtracting using bonds for 100 (in 10s)

100-100=| 100-70= | 100-90 = 100-0= | 100-50+=
100-40= | 100-10= | 100-20= | 100-80= |100-100+=
100-60= | 100-80= | 100-/70= | 100-50= | 100-30 =
100-10= | 100-90 = 100-0= 100-70= | 100-80 =
100-30= | 100-60= | 100-60= | 100-40= | 100-20 =
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Subtracting using bonds for 100 (in 10s)

Say the answer or the missing number

100-10 = 100-70= |100-7=40{100-7=80| 100-7=90
100-7=50 | 100-?=30| 100-20= [ 100-?=20|100-"7=100
100-60= | 100-7=60 (100-7=70| 100-30= | 100-7?=60
100-10 = 100 -90 = 100-0= 100 -70 = 100 -80 =

100-30= | 100-7=0 [100-?=10| 100-40= | 100-?=90
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60

ay the number that needs to b

e added to make 100

15

55

395

20

85

30

45

/0

29

90

80

ol

95

40

/9

60
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Subtracting using bonds for 100 (in 5s)

100-100=| 100-70= | 100-90= 100-5= | 100-50=
100-40= | 100-10= | 100-25= | 100-85= | 100-45=
100-60= | 100-80= | 100-75= | 100-35= | 100-30 =
100-15= | 100-95= 100-0= 100-70= | 100-80=
100-35= | 100-65= | 100-60= | 100-45= | 100-20=
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37 | 63 | 26 | 38 | 68
68 | 52 | 31 | 24 | 89
17 | 38 | 83 | 45 | /6
14 | 29 | 35 | 86 | 22
51 | 66 | 43 | 79 | 47
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Bonds for 1000 (in 10s)

630

number that needs to be adde

d to make 100

680

020

310

240

890

380

830

450

760

290

350

860

220

660

430

790

470
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